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1. TRer A yged 9 e

» b) T i a) S
). PERfRe ¥ ee-w T gE e ?
2) TeT omH @ p) FHA T @A ©) I\ @y fer 3 yﬂaﬁ&nﬂ@m
3 TFER - «geg v H gAY 95T |
o JOTE AR b) TR TN O PhRgTIE  g) sgdfR e
4 B T GG B ARG ?
_2) [ASvarae are b) fAREES AR <) seTETES g d) Hpdaraed ard
s, PofifRed @ sm @1 yufaard W T8 e ?
a) IIGHET b) G oy ey d) faram
6. ‘T PTTTEIRIE?
oy ol b) Gt ¢) [ d) gaf
7. goilcy s Ed e |
a) W+ b) G +3d oy Y4 + Ig7 d) T+
. Mg e Ry Tse?
a) famer p) st ¢) SiRTenm d) 7Oy
9. TRavsTFTFMRiE?
) T UISAR  b) BTAH ¢) B Uge d) SHARH
10. FoRRTdT<sIgewus:
a) Uf3% b) T ~< Ug% d) U35

11. Convert the following sentence to passive voice :
He will never forget it.

¢) It should never be forgotten by him.

| /a) It will never be forgotten by him.
d) It may never be forgotten by him.

b) It can never be forgotten by him.

Directions (Q. No. 12-13) : Choose the exact meaning of the underlined idiomatic expressions / phrases :
12.  To cast pearls before a swine. N

a) to spend recklessly

b) to spend a lot of money on the upkeep of domestic hogs
~2) to waste money over trifles ' -

d) to offer to a person a thing which he cannot appreciate

13. We should give a wide berth to bad characters :
a) keep away from b} publicly condemp c) give publicity;ﬁ:‘

14. A sentence has been given in Direct speech. Out of the four alternatives given, select the one which best
expresses the same sentence i Indirect speech

Mohan said to his friend, “L et me 80 home now”

&) Mohan requested his friend let him

: e £0 home then. . _

b) Mohan requested h1§ friend that the migh?:e allowed to go home then.
¢) Mohan requested _thls-ﬁ‘ien'd 066 st e
d) Mohan told his friend to go him e

R
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20.
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24,

25.

Rearrange the parts of the sentence o
correct sentence. C€ Ziven bejgy, which are labelled (P), (Q), (R), and (S) to produce the

The hourglass is
two triangles (P) / in size (Q) / which e
The proper sequence should be :

a) PRQS by SPRQ

equa] (R) / made of (S). SPR

c) SPQR d) PRSQ

‘hoose the word which is i : : :
Ch , 1ICArest In meaning 1 yhe underlined part in the sentence given below.
A great statesman 1s actuated by love of his count
i S Country.

a) compelled brinduced o) impelled d) versuaded
Fill in the blank in the following sentence with the most appropriate word.

Several of our players were injured, so oy IUSing the match was almost

a) necessary b) indispensable ¢} inevitable d) inexcusable
Choose the right option which has words relateq in a similar way.

PREAMBLE : STATUTE : :

§' prologue : novel b) movement : sympathy ¢) sketch : drawing 4y index : book
Identify the wrongly spelt word :
a) accommodation b) omnipresent Mannical d) contemporanous

Identify the part (marked a, b, ¢ or d) containing an error.
Ravi agreed with all my conditions.

(@ O £ (@
For any positive integer n,n> —n is :
‘a) divisible by 8 b) divisible by 11 c) divisible by 7 d) divisible by 6
NWWnaﬂ—m, n*-ng:
a) 8 T faursg b) 119 faursa ¢) 79 faursa d) 63 faursa

If one of the roots of 4x? - 3x + k is 1, then the value of ks :

Tf 4x - 3x + k 1 U T 1 & ATk BTHAAR :

a) 2 by, =1 c) —12 d) —1/4

Graphically, the pair of equations 6x — 3y * 10 =0and 2x — y + 9 = 0 represents two lines which are :
. - r— = : ) - .

a) parallel ¢) coincident

b) intersecting at exactly two points d) intersecting at exactly one point

ST 0 &, RO T g 6x - 3y + 10= 0 3R 2x -y + 9 = 0 1 il b1 WA Bl & S
S
) TR b) S QR WIRWE T o) FuRt q) S v fiig R wfade

Which constant must be added and subtracted 0 solve the quadratic equation 9x> + (3/4)x — V2 =0 by
the method of completing the square ? T . ¢
ol ) R ) Y P g e e x° ¢ ()% = 2 = 0 1 g R b R ot TR it
3R ger S 91 2

a) 1/8 b) 1/64 ©) /4 d) 9/64

Two APs have the same common difference. T;': tflr;-;tlte-m} of one of these is equal to -1 and that of the
other is —8. Then the difference between their S is 7.

a) -1 b) -8

C) 7 > d,) _9 . ._L_‘:f:”.-‘. i



n the sideS AR AC o rignte ABC such that AD =2 cm, BD

; ints O :
26. D and E are respectively FEFPL o e, length °DE (in oy i

—3 ¢m, BC=7.5 cman it
W;HGABCﬂWGﬁABaﬂ?A%‘Eﬂm%-DmE@ﬁg%%ADzzﬁ'ﬁﬂ,BDjim. BC =
75t e D B, DE 1 T 4 A
' b) 3 i d) 6 & B
s on the line segment jOININE POints A(4. 2) and B(g. 4). then -
27.  If the point P(2, 1) 11es OF R , 4), :
af figpe. . MG AG. 2) AR B(8, 4) P1 IHCT wm@‘q‘{@m%ﬁr:

a) AP=(1/3)AB b) AP=PB ¢) PB=(1/3) AB d) AP =(1/2)AB

[fsin 0 +cos 0= V3, then tan © + cot 0 is equal to :

XY 2.0

28. ‘
gfe sin0 +cos 6=V3 2, dl tan 0 + cot OW% i
a) 1 b) 0 ¢) 23 B 13

29.  An observer 1.5 m tall is 20.5 m away from a tOWer 22 m high, The B e o s

tower from the eye of the observer is :

1.5 e ST U e 22 Hiex F TR ¥ 20.5 Hex Bt gt R 2| uefders &t sitm A HHR B

I ITTT I G :
a) 30° b) 60° €) 45° d) 15°
30. Ifa, b, c are the sides of a right triangle where ¢ is the hypotenuse, then the radius, r of the circle which
touches the sides of the triangle is given by, r =
M &, b, o TP FHPI FAYS 31 4SE &, 61 ¢ B, 1 30 1 By, « St Py ot il a1 o et
M= ,
a) (a+b+c)2 b) (a-b-c)2 ¢) (a+b+c)3 d) (a+b-¢)/2
31.  Acow is tied with a rope of length 14 m at the corner of a rectangular field of dimensions
20 m * 16 m. The area of the field in which the cow can graze is :

TP T B 20 m x 16 m fIAISH TS T SMIABR Bl & B TR 14 m el TG A Fie7 71 21 79 Rg

a) 144 cm’ b) 169 cm? ¢) 77 cm’® d) 154 cm®

32.  Todraw a pair Ofwngents to a circle which are inclined to each other at angle x°, it is required to draw
tangents at the end points of those two radii of the circle, the angle between which is :

U 9 T WY @13 31 U T 91 & R o) T x° DIV IR b1 g, g Bt 39 2 sl
awﬁmﬁgaﬁwm%@ﬁ@?m&m%ﬂf;ﬁﬁxm%; R

S b) 90° + x° ¢) 180°-x° d) 180°+x°
33. .:f?:seg:lciei?;piule 1$ in the §hape of a cylinder of diameter 0.5 cm with two hemispheres stuck to each
- Ihe length of entjre Capsule is 2 cmy. The capacity of the capsule is :

U <A1 0.5 3 o 3 o oapst _
mﬁmzsmgﬁ%gmﬁwmm%mmmmamaﬁaa R

a) 0.36 cm’ b) 03 _ :
‘ ' 35 om? 4 em’ d) 0.33 cm’®
34, The algebraic sum of the devi ¢) 0.34 cm )

o 3 ations of 5 fl”equency distribution from its mean is always :

. g greater thap zero ¢) non-zero number d) less than zero
T i e
' ) WA ¥ gy o Ryg@EE ) I

35. A gitl calculates that the = St
7 : probab . il SR el o T _
sold, how many tickets hag shz ;i:;y of her Winning the first prize in a lottery IS 0.08.If 6000 tickets are

T TS TR 0 2 s s : i
&, dl ge W@ﬁa@ﬁmmwmﬁmﬁm 0.08 213 6000 fope S A

a) 40 b)
1) .__Q_ t b) 24¢ A &8N

am




36.

37.

38.

39.

40.

41.
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43,

45.

A student adds barium hydroxide
i
option gives the balanced chemjes leehy Tochloric acid to form a white-colored barium chloride. Which

fﬁmﬁﬂﬁv‘dmﬁm Quation of the reaction ? : 3
%mqmﬁwuﬁﬁmmg?ﬁ?@m%mmﬁgﬁ%ﬁ?E%ﬁmmm

2HCI + Ba(OH); — BaC ¢) 2HCI + Ba(OH); — BaH, + 2HCI + 0,
b) )2 = BaCl; + 2H,0 d) HCl +2Ba(OH) — 2BaCl; + 2HOH + 0

Which of the following salts does NOT Contain Water of Crystallization ?

a) Blue Vitriol b) Baking Sody
Washing Soda ¢ Gypsum

m%@aﬁammﬂ%mmmwgmg?
a) sq fafeaa b) sfdT Gy IR |t d) foream
Food Cans are coated with tin and not wit}, zine hecause zinc is/has :
a) costlier than tinX : 8 igher melting point than tin
b) more reactive than timyg” d) Ieb‘. reactive than Unv’\
T & el W T 3 B &1 St @ 1 b Ry @, aifer i
a)ﬁq@rm% o) 1 A & s et @

Q e siffsarefia 8 4y fo & w ifhifepaiie 8

Whlch of the following belongs to a homologoys series of alkynes ?

Faffad o & 171 Ueeh I3 (alkynes) | Ues greidd (homologous) g o HalREA § 2
C¢Hs, C2Hs, C2Ha, C3Hs

a) CeHs b) C:Hs ¢) C-Hy d) CsHs
Which of the following elements has 2 shells and both are completely filled ?

a) Helium b) Neon ¢y Calcium d) Boron
ﬁyﬁ@aﬁﬁmaﬁﬁﬂm(shens)%mﬁmﬁﬁq%” ez
a) Biferad b) =
What are the products obtained by anaerobic respiration in plants ?
a) Lactic acid + Energy ! ¢) Ethanol + Carbon dioxide + Energy
b) Carbon dioxide + Water + Energy d) Pyruvate
el 7 SraTdi A R T STE 1€ ?
2) Qe TRTS + Seil o) T + DI ST3HTRAIES + el
b) DA SEIATIIES + TR + ol d) UEEdE
The gap between two neurons is called a(n) :

) Axon b) Dendrite ¢) _Impulse d) Synapse

Eﬁﬁﬁﬁﬁﬁﬂﬁl{neumm) % uwmwﬁﬁﬂﬂ? :
2) TEEH b) FT1ET c) SfIET d) R
AIDS is a deadly disease which is caused by 8
a) protozoan b) fungus ¢) bacterium 4y virus
USH(AIDS) U UTqd I 2, Gﬁﬁﬂﬁmm%
a) HICISNSM b) PP ) Sftargg d) IRy
From the list given below, select the character’ which can be acquired but not inherited :
&5 Solouriotoyes b) colour of skin ¢) texture of hair ° ~d7 size of body
A3 & 1€ e @ I (characten) ﬁrmﬁm%ﬁv‘mmm% Aifep forrre) & e e @ «
a) ST BT AT b) el 1 3T A i 47 TRPTSMPR

A concave lens has focal length of 13 cm. ¢ Hd the object from the lens be pt

that it fonnsezz image at 10 cm from the lens? Al;‘; ‘;nd the magnification prc by the

e m‘ﬁmﬁiﬂwmmmmﬁaﬁ 10

mmamwuﬁmmvﬁw“m T B |
9-30em-033  g) 40 cm; -033

a) 30 cm: +0.33 b) 33 cm; +030
ﬁ_ - — - —-‘;_"




of an object formed 2

o i S
46.  In which part of the human eye is the i _
a) iris b) pupil ,c} I"Etm%a d) cornea
: I
T g3 ard v A R A "'E"a'af'ma'
a) 3Msfey b) Jh | d) it
rate of Wwhen heating is at the maximum rate. The voltage

: . a
47.  An electric iron consumes energy at tance ?

resis
is 220 V. What are the current and the

U fagya SR 840 waﬁﬂﬁ:ﬁﬁfﬁmm%wmaﬁwamﬁm%lﬁéﬁzmv

1 i AR YRy A E 7 |
a) 3.82 A;134.15Q b) 5.02 A, 57.652 ) 3.82 A;576 Q d) 1.64 A; 134.150
48. Appliances that have a metal body are gencm"}’ connected to the earthing wire. The reason for this is to :
‘ = : €) provide €xtra current to appliance

a revent excess of current : : [ .
bg gre\-'ent the leakage of current d) provide high resistance to the appliance

o Iuasun | U@H’ﬁﬁ@ (metal body) E’R‘ﬁ% d Sy Fh?tl? Gm(eanhingj R | @@' @ﬁ%f SHd
BRUE :

) FYE B 3ifear ) Aea F e ¢) SR I 3ffafRed dbie gam w3 F fag

by T Rera P B e ) JTHRI Y I R T e g
49.  Kitchen wastes can be hygienically disposed off thxough :

a) Duniping _b¥ Composting ¢) Incineration d) Recycling

TR & FR P Weod1 & g w1 § e S o g 2 .

a) SUTERI b) FEILTERT ¢ WHIHU gRY d) JarsieeT gr

50.  Which of the following statements is FALSE.

a) An electric motor converts electrical energy into mechanical energy.
b) An electric generator works on the principle of electroma gnetic induction.
¢) The magnetic field at the centre of a long circular coil carrying current will be parallel straight lines.

A A wire with a green insulation is usually the live wire of an electric supply.

fEewEidds ormea e |
a) wﬁ@aﬁamﬁamﬁwmﬁmﬁam%i

9 wﬁd’rm@a%ﬂa?%ﬁmw%aaﬂ#mamﬂu &3 TR el Yt g
d) aw%mwmﬂmﬁrmﬁaﬁaﬁmwmﬁm@m%l

51. Infant Mortality' R_a'te indicates the number of children that die before the age of SEFEINS =g g
Proportion of 100 live children born in that particular year.

a) four years A7 one year ¢) two years d) three years
it e PR T
%) TR b) U Grey o) a T d) 9@ |
52, Whltfh of the following is an example of collateral ? i
- a) Livestocks b) Land ¢) Deposits with banks 5 All of these 'k
ﬁaﬁ-‘r@aﬁ%aﬂqw@m (collatera]) gy Wg‘e{]g?ﬂ[% ? i
a) UeA b) 4fty ¢) SHI B U TGS d) Agh

ich of i

Y its per capita income “hionl
&ts average literacy Jeye| ;‘Y?;a;glpiitgs of lﬁ ._ peoplg
ﬁﬁﬁm%h*mmﬁmmwwﬁ%-?

b) SHDT ST FIERAT T 0) gmﬂiﬁh‘ﬂaﬂwf@;ﬁr

5l = g
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s4. The most common route for inve
a) setup new factories

b) buy existing local companies ey form partnerships with local companies
d) none of these

2 R 3 3 SIS g gy |
) R R P 3 forg e o ATl &

by MNCs in countries around the world is to

' ; Ul & a1y

p) Tregel R S B Tl ‘ﬁﬁgﬁﬁ Y W ST
Which of the following states i . )

7 dhra Pradesh % b et eﬂjoys a Spcciﬂl status ?
a) Andhra Prades | ) Kerala & Nagaland & ity
el FPrafeife & & e 59 ) Ry e g 2 2
a) \Wﬂm b) éﬂﬁ s .» Y § ‘

56. Accountability to the citizens is the most basic gytcome of :
a) Theocracy b) Autocracy Loy Democracy d) Socialism
TR S AR TIRE__ H1 e gyt oo @ |
a) W(Theocracy) b) ATTRITE! 0 CTE] )

57.  Consider the following two statements on power sharing and select the answer using the codes given
below :

P. Power sharing is good for democracy.
Q. It helps to reduce the possibility of conflict between social groups.

a) P is right but Q is wrong ¢) Both P and Q are wrong
P Both P and Q are right d) P is wrong but Q is right

waﬁmﬁﬂﬂmﬁgﬁ@aﬁmmﬁmaﬁm&hﬂ%ﬁqwqﬁmmmwm;

p. T BT TRIGR S & e 3t 8|
B.%Wﬂﬂﬁ%@amﬁaﬂﬁmaﬂmmﬁmm%l

2) P 2 AP QI © &) P 9IR Q &I TIeiel
b) P 3R Q Al TEI § d) P Al Q TR &
58. The state of Rajasthan is very well endowed with solar and energy but lacks in water resources.
a) Geothermal b) Hydro ~€) Wind d) Tidal
SRR 6 AR 3R wi%waﬁaﬂ%ﬁmﬁm%aﬁﬂwﬁmﬁaﬁw%
a) Y-y b) S ¢) gaq d) SO (Tidal)

39 The freshwater is mainly obtained from surface Tunoff and groundwater that is continually being
renewed and recharged through the : :
\}f sulphur cycle , ,bg’\rock cycle Le3./1,13“1{0'logical cycle ,ﬁone of these
Al U Bl 5@l U Y Hde! ayarg 3R YT B T faar siar @ o AR Fid(renewed) IR
et fepam 1 2@ 8 - _ |
a) ST Th o by e ek H ¢) FRSAREATE Y d) T A DIS Tl

60. In which one of the following states is 1€rTace cultivation practiced ?

~1) Punjab b) Plains of Uttar-Pradesh ¢) Haryana d) Uttarakhand
ﬁaﬁﬁﬁaﬁ%ﬁa—amﬁgﬂm@fﬂaﬁw’fﬂ%?
a) TS b) FERR & B o) T §) IES
61.  Which one of the following type of resource is 1ron ore .? : e
a) Renewable Ry Biotic "Non-renewable  d) None of these
) T b) AP ) S o THAFET



|
62. By which vision, the people of the world 37 EOUPCd as digginey o tentified through their flags
S8l
Z%‘”E];“m b) WA GTE ) Ty o) AR |
63, Which of the following gave unbridled powers 10 goVernment ¢ arrest and imprison Suspects, without
s ; fndia Act ©) Gowt. of India Act. 1858
E; ?h:ner Act of 1853 —2F The Rowlatt Act. 1919 i
Frafefa & @ e PR Pl 5 H TPEH & Wi 3t figaam o ok e et A1 FREY |
gl e #1 2 ' -
a) RcE3EmMTR 1) B3 BIAXTE ¢ HRd WPR ffgy, 1858 d) e TR, 1919
64. Which of the following statements are TRUE about Satyagraha ?
° J’)ﬂ Satyagraha is not a physical force % A satyagrahi does not inflict pain on the adversary
b) It is the weapon of the weak. - Option (a) and (©)
T IR { P # A FH A YT T9E 2
2) TE PYE AR Wek 71 8| ©) FemrE R ) dher 7t i
b) T FHEIR] 1 BIUUR B d) e (a) 3R (c)
65. In the mid-sixteenth century, the printing press first came 1o : ‘
a) Goa ndhra Pradesh ¢) Kerala _#&r West Bengal
HreTed! wrared! & Aen H, fiffen O vgeft AR H 3t oft | :
a) TaTr b) Y TS c) B d) ufgm s
66. What was the position secured by India in the Asia Cup hockey tournament 2022 ?
a) First b) Second ¢) Third & Fourth
TR S glebt gAfHe 2022 ¥ YRA T $H |1 WA Bifdre far 2
a) Tgar b) GERI ¢) d d) =yr
67.  Achinta Sheuli, who clinched gold medal for India in the Commonwealth Games 2022, is associated
with which sport 2
a) Weight lifting 47 Boxing ¢) Table Tennis d) Lawn Bowls
EHST e 2022 H 4RA % Ry ol v ey areft T ot e S S 92 2
a) HRITAA b) EifagT ¢) cad d) dAEEE
68. The main constituents of L.P.G. are :
9) Hexane and Ethane  b) Butane and Propane ¢) Ethane and Pentane g Ethane and Methane
TS S T uew 2 - 55
) FRAMDT ) Rrdkgy o @HIREA o) W AR |
69.  Which of the following is used as 5 food preservative ? ; ' o J;
8) PotassiumNitrate ) Salts of sorbic oeig ¢) Sodium benzoate _dy"All of these >

a) GEREEAREE ) %ﬁgg ::;ﬁf&:‘m 9
70. Which among the following is NOT correctly WCd ?

=) 1929 : Bhagat Singh Threw B
b) 1930 : Simon Commission ﬁrs?n-jb at Central

? e

c)-1931:SeCOndRoundtable‘cmgrnecamemIndia_ = ; |

d) All are correct

Cnce = g
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72.

73.

74.

73,

76.

5

78.

19.

b) 193023@@3@%311 mﬁ'ﬁ%ﬁe’aﬂgw ;; gfﬁq%?ﬂﬂﬂamﬂm

What was the theme of Punjab's tableay in the Republic Day Parade 2022 at New Delhi ?
a) Jallianwala Bagh Massacre £ Sangat and Pangat
b) Martyrcliom (IJf Guru Teg Bahadyr I ;)} Contribution in Freedom Struggle
7% el A TTorc e WYs 2022 B ST a8t gy Fr 01 12
a) SIfCRATETEN S §THTS 7 3R T
b) T 7T TG ol 1 rerera %Wwﬁtﬁmm
Which country has the most powerful passport in the world, as per Henley Passport Index 2022 2
a) France Y USA ¢) Japan d) Australia
BT URUIE SR 2022 S TR G apy gy qrfaeriTell TRIOIE ol 3R 1R 9
a) Wid b) TTHT. ¢) S d) ifem
Who was the first Indian actress to receive the Padma Shri award ?
a) Madhuri Dixit A7 Nargis Dutt ¢) Bhanumathi Ramakrishna d) Meena Kumari
137 4 RRBR U B aTetl gt UReltg aftyft 3 o 2
a) AT Sifer b) RA¥&H ¢) WA TGN d) HiA FER
R.K. Narayan created the virtual region known as
a) Malgudi ) Wessex ¢) Waverly d) Lake District
3R, ARGV 3 U &1 1 o fasay, o e ST e -
a) HIGHS! b) AU ¢) gl d) d f3feae
How many members of Lok Sabha and Rajya Sabha are elected from Chandigarh ?
[T 3R TS T & e Waw Feime § 97 o € 2

0,1 SRy 1,0 By 1.2 d) 0,2
Which Indian state was the host of the FIFA U-17 Women’s World Cup in 2022 ?
a) Karnataka _ ) Haryana ¢) Odisha d)~Madhya Pradesh
BT 318 -17 AiReT A% Y, 2022 T HOEH HRd P S | 64 UT 2
a) HACH b) sfearn ¢) Sfifs=m d) AU
Which institution launched the guidelines to identify mental health in school going children ?
a) NITI Aayog \by Union Health Ministry ¢) NCERT d) National Testing Agency
a) AR SRNT  b) Fely TR HAT o) WHEIRA o) I LI ToRT
What was the theme of the ‘International Day of Peace’ 2022 ?
a) End racism; Build peace ¢) Equality and Inclusivity
b) Anti-casteism for Peace ~4] Humans for Peace
SfeRTSTa ifey faae 2022 o oy &1 41 ?
a) TEATG GHTG P; ) b1 FA0 Y Rl RUELE L CRG)
b) i 3 oG e e ) i FREER o
Which airport has been named after Indian freedom _)ﬁghter Bhagat Singh ? ' &FJ'R%T il

= 3 " c . h, Sl - o8 "5:._0 -
~%) Chandigarh International Airport d) goa Inmmm e 2 shes e

b) Jaipur International Airport "inagar International Airport -
e e ST 2T R 3 AT TR P € c’ﬁ?"m 8
2) 9EITE gars gl & Moo

b) TR 3 gals gl




80,

81.

o

—

32.

83.

84.

85.

86.

87.

Who is the winner of the Dadasa

2

44 - 59 <h) 8 c) 12

1ol Phalke aWard for the year 2029 7

) Rajinikanth b) Kamal Hassan aﬁ—;% Asha Parekh A Nawazuddin Siddiqui
» ¢ I}

¥ 2020 3 areT HTE Hled GRPR P! i

a) ST b) HHA g9 ©) SR gTeg d) Farse Rele!

Choose the correct alternative that will continu€ the same pattern and replace the question mark in the
giyven series,
R ol e e ) e @ ST T 4 8 g a9 e o

24, 60, 120, 210, ?
a) 300 b) 336
An alphabet series is given with missing terms as shown by (?). Choose the missing terms out of the

c) 420 d) 525

given alternatives.

wmﬁwmﬂnﬁ%mﬁﬂﬁﬁaw*%(?)wmw%l f&u e famedt o @ g ya)
@1 gAY | @
Y,W.T.P.K,E. X, 2,

a) G, H b) P.G ¢) R, G d) S,R

Lion is related to Prowl! in the same way as Bear is related to :

a) Frisk b) Lumber - ¢) Stride _ Bound

rg voR Rig &1 9ag W (Prowl) T &, SH TSR U HT I6g & :

2) res & b) TR Y ¢) ¥RS Y d) IS8 ¥

In a certain code, FIRE is written as QHOE and M ',-.:15 i_WE Following the same rquOf coding,
what should be the code for the word OVER ? . \;0 (& £ MiJ 0

U% fAf3d SIS H, FIRE &1 QHOE 3R MOVE $I ZMWE & ¥9 ¥ forar o 8 | HIfEn & 34 Aag &1
T8 &3d g4, OVER /&2 & fo0 1 1 €1 =gy 2

a) MWED b] MWEO ¢) MWOE d) MWZO

Pointing to a gentleman, Deepak said, “His only brother is the father of my daughter’s father.” How is
the gentleman related to Deepak ?

a) Grandfather b) Father ¢) Brother-in-law d) Uncle

AI9% 7 U i Pl SR SR 63 §U g, ] Spaal 11 A 81 3 e ot fen &1 W 1
9% T Yay g 0 : o

a) GTaTSi b) for ) St d) 3

Kunal walks 10 kilometres towards North. From there, he walks 6 kilometres towards South. Then, he
wa:lksv3 kilometres towards East, How far and in which direction is he with reference to his starting
point ?

a) 5 km West b) 5km North-Eagt  ¢) 7 km East d) 7 km West

PUITE IR Bl 3R 10 fradey : &1 3R 6 faiiex Taar 81 Rz, 98 &t

If ":_’ means '+ rr !'_ 'means ! _:_f ’ x 3 mﬂal'ls '-—o'md """mEans 'xrlthen:
g+ BIRF 4 BT 1 150 &1 3 ! IR+ @1 o ' .
(36 X4)-8x4 y
4+ 8xZ2+16+1
d) 16



i A, B, C, D and E called the Problem f;

88. The following question consists of five f arked As X
followed by four other figures tradk '5" figures If“‘ and (d) called the Answer Figures. Select 5 !ET’ L:lres
from ¢ : . T ed (a), (b), (¢) 2 . the same Series as established i
from amongst the Answer Figures which will continte t : : shed by the given
Problem Figures.
fafef@a Uy & A, B, €. D 3R E g i it & fore el BT ST 7 3R 39
§T1G 9R Y eﬂﬁ(a). (b), (c), 3R (d) ﬁ:rf%a%‘ifﬂ%ﬁ &nq?%m%\‘n'qm% | STR f1pfadt & v
a@%mwaﬁaﬁaﬁ@wwmmﬁﬁmﬂm” T |
i Answer Figure / 3t¥
Problem Figure / STHET 3Ty ASWEL 218 S
X = Ol= SX=6=O§[ =ﬂ =05=OS*X==51
nasxD(Ttspr.ps‘;*PX*##QQX*
A B C D E (@) (®) (c) (d)
89. There is a definite relationship between figures A and B. [?Stab“f*h a similar relationship between figures
C and D by selecting a suitable figure from the Answer Set that would replace the question mark (?) in
figure D.
TR A IR B 35 e o P Wl 1 e A 8 O SR SPIA 31 0 025 SR C R
SV T T et R X S 25 2y o (7) P AR S |
Problem Figure / AR 1T Answer Figure / IR 3MTpfd
a1V © A A A
e L el 0|00
o- - o &
AP g e ST w( ® ©
90. In the four figures marked (a), (b), (c), and (d), three arc similar in a certain manner. However, one
figure is not like the other three, Choose the figure which is different from the rest.
IR B (a), (b), (0), IR (d) T, T w Rt 7% & TAH g1 FIiifch, U PR 31 i 1 76
T 21 39 APha B 999 Hifee ol A8 H A B
L L [ L] " al 8 ie
[l L) 3
slefs | *I [* ~SIN B e
(a) (b) (©) (d)
91. Identify the relationship between the two words, and then from the given options, select one which has
the same relationship as of the given two words.
Snake : Reptile : : '
a) snake : cobra b) bird : mammal &} Wasp : insect d) lion : amphibian
2 rag 3 e wieer e, 91N R R TR A 8w o e o, e forg el e &
HaUE |
m.:ﬂﬂ'ﬂ'q(lieptile) s
a) WY Pl by el TR o) dq. Fe d) IR- : SHTER (amphibian)
92, If water is called milk, milk is called bread, qbrcad is called butter, butter is called sky, sky is called
yellow, which of the following a baker bakes " ¥
a) bread b) butter ¢) milk d) water
P Uter e g, 3 Prafafad o @ S, 9% I dl(bakes) 8 2 el e g
a) S8 N skl O
93. ‘BE’is related to ‘GJ’, in the same way a5 "PS 15 related to -
'BE' 'GJ" aa’a’ﬁ'ﬂ%’ wmaﬁ' PS |Ha[§ia’
I UX b) UY ©) Uz
__________.—’.”—'—'_\——5——
Hindi Set-D -
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94.  Find the odd one out. ¢) Mosquit f
a) Housefly %Spider e ¢ i
fersm &1 var e ) TR Prreht
a) ‘ﬂﬁ% l b) TEST " ﬁtc') 4
nd father Into one of the Venn diagrams (a), (b), (c), & (d).
95. How three words : “parents, mother o) AR
A e . i, T ol far 3 (Ver SRS @), (®). (c), R (@) HHTFH Hfpe 43 © |
oF
AgOLY "o
a) ) € d)
o - inereases by 40 paise €Very year, while the price of commodity Y increases
96, The P“C?‘Ut Cf),m,mg(?I-[ylf)‘\i;:‘s]l::;;'r‘i.)trhe price of commodity X was Z 4.20 and that ofg was T 6.30,
¥ I}Sfp;mca?;}mifggny X will cost 40 paise mOre than the commodity Y 7 '
in which ye > ;
angaﬁaﬁnﬁﬁgzwmaﬁaﬁq@@?ﬂiﬁ%ﬁ%@yﬁaﬁmﬁﬁm 15 R B IR
s e 2014 8, T X P 2 4.20 off ARY 2630 2, t fopw o g x B piHa A v
40 O 31w grht 2
a) 2023 b) 2024 c) 2025 d) 2026
97.  Water boils at 212°F or 100°C and melts at 32°F or 0°C. If the temperature of a particular day is 35°C, it
is equivalent to (in °F) :
U 212°F AT 100°C u%am% 3R 32¢F 1 0°C WX frereren B 4 fapeft foriw o1 7 amom 350 2,
A8 (FH) D SRR B :
a) 85° b) 90° ¢) 95° d) 99°
98. Company C sells a line of 25 products with an average retail price of T 1200. If none of these products
sells for less than ¥ 420 and exactly 10 of the products sell for less than I 1000, then what is the greatest
possible selling price of the most expensive produet ?
Pl € 2 1200 F R a1 e S WY 25 el ] Ub Ui SFA §1 A 39 AP o I
3 420%@13%&%%1 3R &1 10 I 2 1000 ¥ FHH 9= &, 1 6 HgH IAIG B S aH
Tyd faspl S 717 2
a) T 2600 b) ¥ 3900 ¢) T 7800 d) T 11800
99. A man bought some eggs, of which 10% are rotten. He gives 80% of the remainder to his neighbours.
Now he is left out \T.rith 36 eggs. How many eggs he bought ?
U MeHl A $B 7S T R A 10% T 50 §1 a8 9 1 80% T TSR &1 1 1 9 TS
I 36 3S & €| I8 foba o2 Wi o
a) 40 b) 100 ¢) 200 d) 72
100. 6 }ifabl: ago:.}, the ratio of the ages of Kunal and Rayi was 6 : 5. Four years hence, the ratio of their ages
wla‘nfqgif-‘: L Whaha;‘:;a"‘,s age (in years) at present ?
6 , UM P g FY n a9 §Te, ST ST TSI 11 : 10 BT |
a) 16 b) 18 d) 22
101. Analloy of gold and si : c) 20 g EhPhERE 2 |
5 oy ol gold and silver weighs 50 g. It contains 80% gold. How much gold(in gm) should be added
to the alloy so that percentage of gold is increaged to 90 ?
3 O el 1 0 e 1 1 57y ey 2 g 0% S B 1 PRt e e o
) freman S 9rfeu arfep - B i _
TG 90 Bl oiME ! i
a) 30 40 c) 50 d) 60
02. A train leaves Ambala at 6; R P iy e L e AT
" nd eaches Ambalaa 11530 . o <aEhes el at 1600 ASOETIEE s Deliat 00 am
“ e *What time do the tWaRERIRG GRS EERE SRS
a) 9:00am ) 7:36am o §:56am d) 9: 56 am |
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103.

104.

105.

106.

107.

108.

109.

e o1 ST | YT 6:00 T Fiapaeh g fered U € | U 31 3 ey :
ﬁﬂﬁ?ﬂ%\ﬁ?II:BUH@&WU@a?ﬁgil;nEg%ﬁﬁﬁWﬁWm%? MLl
a) 9:00am b) 7:36 am % ¢) 8:56am d) 9: 56 am

Two taps A and B can fill a tank in 20 minuteg 4nd 30 MIDUES: respccti‘f’el}’- An outlet pipe C can empty
the full tank in 15 minutes. A, B and C are opened alternatively, each for | minute. How long will tank

take to be filled (in minutes) ?
276 A AR B U 7 B I 20 Fre aive 10 T B R TP T | TP IS TRY ¢ R ¥ oy
hoiocting @r@mw%.maﬁlfhaz%%uam_

15 firTe B ETel B G 81 A, B 3R ¢ %) Jpfad €4 9
o A BT R | R ) e A R e T (B ) ?

, 1
of the time, B mnvests = of the capital for —13- of time and
rofit of T 4600, B’s share is ;

a) 105 b) 120

: ; 1 :

In a partnership, A invests = of the capital ﬁ::or(l
3

C. the rest of the capital for the whole time. Out of 2 P

@ TR A A, L T Ry gt @ L pag e 8 BIR @ 2 WS R gl @ L A
m%aﬁ?c,ﬁwiﬁﬁwrﬁ{m%fﬁuﬁaﬂmﬁl?460035W”ﬁ?fB$1f%Fm%:
a) T 650 b) Z 800 ¢) T960 d) T 1000

Computer A takes 3 minutes to process an input while computer B t{:lkcs 5 minutes. If computers A, B
and C can process an average of 14 inputs in one houf, how many minutes does computer C alone take

to process one input ?
HER A T TG P ARG A 3 mwwam%aaﬁiﬁﬁu%z?aﬁsﬁqtmwm%t

7% SR A, B IR C T 62 F SNG 14 3TYC PI H0H B Fdl &, Al DL C B T FTYC B
TR A B fhaa e ST awg dare 2
a) 4 b) 6 ¢) 10 d) 12

Anu is 10 miles west of Rita. Ravi is 30 miles north of Rita. Anil is 20 miles east of Ravi, What is the
distance (in miles) from Anu to Anil ?

3, fa1 9 10 e uEm 7 1 M, Gar @ 30 Pasw A 21 offFe, FaF 20 Hia @ A g1 3 A sifw et

e e 2
a) 10 b) 30 ¢) 32 d) 10¥13

The simple interest on a certain sum of money after 10 years will be ¥ 600. If the principal is trebled
after 5 years, what will be the total interest at the end of the tenth year ?

10 98T & aTe; 3t MR TR TR0y ST 2 600 B A Tefed 5 a9 & e aar e, a
2gd a¥ & 3id H P sl fba1 grm 2 ; RIS
a) 600 b) T 900 ¢) T 1200 d) T 1500

A father left a will of ¥ 16400 for his two sons aged 17 and 18 years. They must get equal amounts
when they are 20 years of age, at 5% compound interest. Find the present share of the younger son.

U T 17 3R 18 7 Y 31y F oA G Gl b R 2 N n
W@memsﬁ%ﬁmﬁm@%ﬂ%maﬁ;?%mm:ﬁmﬁﬁmﬁm

a) T 8000 b) T 8200 ¢) T 8400 d) ¥ 8800

If the leneth of a rectangle is halved, while its breadth i g . . T
£ g g pled. What is the percentage change in its

a) 25% increase b) 50% increas;ﬁ G;;‘TSO% decrease d) 75% decrease

afe febeft aimarel 1w omeft PR < WG, IS A B ,
o ‘H zﬁm.' $9& &we | fbe

a) 25% B 3G b) 50% 1 Ik ©) 30% Wl d) 75% B HH

=S5




-2+ 3. The length, breadth and height of the

110. The
length, breadth and height of a cuboid are in the ratio 1 e Gt

i‘:}‘;’l‘:ﬁ arc; ‘ill]lcreased by 100%, 200% and 200% respectively. Then how many tmes the in
© 0l the cuboid is : ‘
U UM ) e, T i e 7 S 1 2. 3 B T ) G, AT M eI A P
100%, 200% 3R 200% 1 3fE el &, A GAH & ST & et T gfe e 2

a) S b) 6 ¢) 12 d) 17
111. Which of the following Media belongs to ‘Contrived Experiences’ as per Dale Edgar’s Cone fJf Learning ?
_AY Pictures b) Models ¢) Demonstrations d) Audio Recox"dmgs
%m%ﬁ%aﬁq%wmﬁﬁaﬁ@rﬁqwﬁﬁmmm (Contrived
Experiences) £l Hﬁmﬁ% 2
a) femt b) Hisd ¢) HagH d) e Rep e

112. Which one of the following is required for a good communication by a teacher in tht_a class room ?

larity of thought ¢) Speaking in a mild tone
% Dramatic Presentation d) Speaking without pause

ﬁ&ﬂﬂ@@ﬁﬂﬂﬁ%ﬁ%ﬁﬂﬁ%%ﬂﬁyﬁ@ﬁﬁﬁmmﬁ@fﬂ%?
2) fER 3 Wy p) TCFEWGR o THERATTT  d) ERIEEACIGE]

113. Students’ performance can by enhanced when they learn by: L’d’/

a) seeing b) listening c) imagining doing by hand

T % TS P T eIl o Febdl § W 3 FARE P gRI e € -

a) A b) G BIP o) AT B Oy Y PP (doing)
114. A scoring guide used to evaluate the quality of students’ performance is known as :

a) rubrics , b) checklists ¢) inventories & rating scales

mﬂ%w&haﬁwm%mﬁ%@a@naﬁaﬁmﬁaﬁﬁnmmﬂ%:

a) Bfsid b) ST el ¢) TG d) Y& whew

115. Using ‘realia’ in the language class means bringing :

\@)/éaj life situation to communicate \°"
H_real objects as teaching aids
realistic objectives and targets for the learners
informing parents about real level of child’s learning

e a7l B R (realia) ST TANT R H7 37 2 -
a) HaTg & & fo1¢ ardfa® witgy & Ry
b) e gt & wu # arafde aeqd

o) Rugnfal o fer gumfard Siwy ik weg
d) Her-fiet 1 = 3 Wi % i W % qi J g S

116.  Which of the following is the better item of essay type question ?

a) Discuss Force)( ¢) What do you know about Force ?

b) Explain the concept of force with one example(_ " Write a note on Force.

mﬁﬁmﬁwﬁaﬂm%wmmm%‘%aﬁﬁ .

_ c) TAP 1Y T S & ?

b) aﬁaﬁmmaﬁwmmmmaﬂm| d) 96 IR T e ffe

117. Continuous comprehensive evaluation i -
&) continuous testing '

b) end term evaluation

¢) assessment of learners while learning
d) periodic conduct of exams

a) g = : _
| i o) g ¥ o Rl o1 e
i WWW ,41 heall @1 Hafid AarsH



118. As a teacher in the classroom, you

associated with : have notjced that o€ student has some reading disorder. 1t is
a) Dgi;);:;a S ;} Dyspraxia bﬁysl;m’a /CU\ Dyscalculia
HEf famﬁa@%ﬁawmﬁﬂaﬁﬁ@ﬁm%l% R —

goMe |
o) fesmalie! b R ) R -

119. During teaching, a teacher’s statements
- th - students to elaborate ; :
own or that of others is called : at encourage = On an answer, either their

) Problng{ . S Engagement in learning process
b) Instructional variety d) Structuring

Rer01 & TR, U 14D & U I B @} aq 71 g8 P I D! fAgd $ & o e s

%, 39 ﬁﬁ T
a) W o) ¥ BT b A ST
b) G LTHD fafaed (Instructional variety) d) ST

120. Out of the teaching approaches listed below, identify the individualized approaches :

(1) Demonstration method i) Personalized teaching (v) Collaborative method
1) Programmed learning (iv) Modular approach based teaching

ﬁ@a&ﬁmmﬁﬁmwﬁaﬁwaﬁ:

() veH fafy (i) SfeRPT R (v) TEaTE [y
(i) PTG FRI&or (iv) TSR efdor smerd fueor
p@ (1), (1v), (V) M) (iii), (iv) ¢) (iii), (iv), (V}Q d) (1), (iii},("}(

121. A teacher uses a lot of positive and negative examples in his presentation in the class. This is related to
which level teaching :

a) Memory level ¥ Reflective level
b) Autonomous development level d) Understanding level

Qﬁmwm&ﬂﬁmﬁfu@ﬂa@ﬁmmwmmmm%mm

a) WA &R p) @ AR ¢ faei &R d) I ER

122. Which of the following are called behavioural rather than “attitude and belief” related competencies for
becoming an effective teacher ?
(i) Communicating 4if) Managing & monitoring  (v) Evaluating and feedback
(ii) Locus of control (iv) Teacher enthusiasm

T T e w3 Forg Fraeriae 7 & 8 <o 3R Fsgrer & Welfirer aeferof a7 FHIER

FEITA© ?
(i) GER R (i) e M AR (v) T MR T

(ii) Fri=ror &1 RIF (iv) T8 e
5 e e
a) (i), (i]i), (1j1) K b). (i1), (iid), (iV)/( f %‘, (1I1ﬁ, (v) d) (ifh), (iv), (V)
123, The abilty o use leacht material in o new sifs8590 1Y & siuden (aigabistho papblent 6 cpicis
a) knowledge by’ application ¢) analysis d) synthesis |
o R o g T ST e 7 TR S i g ot T P €
a) §H b) 3Mde o) fasgiwor 4) SN

AELE 3 o




2stions which
WP ST se ques are called process g :
? 124. Out of the list given below, identify thos Progess rather thaw content based
X a9
questions .+ based questions :
O ) Fac X . (V¥ open questions
' nvergent questions 2’ cept based questions / ;
(1) coRvcrEsn’ 9 ’ﬁf} concep questions (v} closed questions

“

(i1) divergent questions A
ﬂ%aﬁnﬁ@ﬁ%muﬁaﬁq@?ﬁfgﬁ%amaﬁﬁ “'Wﬁa%mqﬁmémgwﬁw 5
Ei) mg&r i eI o (vi) 5 Uy

by (iv), () & (ViR i, ey g (). (i) & (iiipx

ii), (iv) & (v) (K
i ith teaching sltull :

- . d W
125. The following is/are relate . ' B
) Black-board writing \j;/l;;; 0‘:}:‘;”‘& a topic in classroom
b) Asking questions of these

Prafeifad e P & e € -
) S-S TG b WHTE  © PEARH Ry akea i ) dmi

126. RFID stands for :

_a7 Random Frequency Identification ¢) Radio Frequency Information
b) Random Frequency Information 5[2 Radio Frequency Identification
R, 31 ST, RFID) 1 31 @ -
a) TEf=S® Mgy Ugar c) STt gy g
b) Trefase SMTgfy & d) &t gy ugwH

127. Firewall examines each that are entering or leaving the internal network.

_Aa] connections b) data packets ¢) emails users d) updates
PRRAAUAD P oid Bl @ 6l e Jeds § ay IR E MBS R T
a) PIaRH b) ScIUde ¢) SHOIWONGT  d) U

128. Which of the following term is used for creating web pages ?

99 U5 5 3 forg o & 2 v wreg @7 g e ST 2 2
a) FTP A7 HTML ¢) HTTP d) URL

129. Which of the following is an address that specifies the location of a web page ?

IR 7 3 1 91 G 2 o e St 5wy 1 P T 22
Sl b) DNS ¢) HTML d) HTTP

f? 130. For di‘spjaying hyperl jnk fields in a word document in Microsoft Word, you can press :
- TN IS O Yo Areies e i @0 3 1Y, ST G WA E:
3) (.Zl:rl G Shiﬂ tFkey by Cirl+ Alt key c) Shift + F9 d) None of these
r?—ISI. Which of th‘;;o:owmg .keys Are used to incregge Jeft indent in Microsoft Word ?
R il o 3 el T R
g Mm?mﬂ Powel?om’ the shorteut key to insen? n.:lw,sli:le begween the curmll presctation s

ja-}-‘Ctrl +N b) Cyr .
_ 1+ K : d) Cirl + O
133. Which of the following funcio, s ¢) Crl + M ; )_ sk
' S Mlcl'os()ﬁ Excel tells about n-mnber of numeric enmeﬁ__: _
ARG G A P P 1 horm <ty S 1 €N S R A S S 2
= ﬁ NIJM() b) CO] NI i i - : o TTIPATT TR &4 N



134. In Microsoft Excel, multiple calculationg can be made in a single formula using :
a) Standard Formulas  b) Array Formyj, g Complex Formulas d) Smart Formula
e aTe e |, PRI ST iy g % TOFIE D1 o SRR |
a) AF® b) &Rl o) dfed d) ¥

135. Which key can be used to view Slide sho 9
weEe T 2 T e Bofltkey) 1 Iz fasan o 941 € 2
a) F5 b) F2 ; d) F9
) s sy F7 o

?36. Which function will be used to enter current time in a worksheet cell ?

i e B BEE TR UeR B b Ry Ryt 1 SRIHIC (e SITQTT 2

a) =currentTime() b) =time() ) —now() r=clock

137. Junk e-mail is also called :

¥ Spam b) Spoof ¢) Trash d) Spool

sEidad eI
a) WA b) WP ¢) DI d) o

138. Which term identifies a specific computer on the web and the main page of the entire website ?
a) URL b) Web site address  c¢) Hyperlink 4 Domain name
aﬁqmmaamwﬁﬁmmemmmﬁﬁw@qgaﬁwm% 9
a) URL b) IR HIGA ) TRIRCD d) S M

()39. What does the Function key, F12 do when you are using MS Office ?

a) Open 'Save As' Dialog Box ¢) Displays 'Save' Dialog Box
b) Shows 'Open' Dialog Box d) Opens 'Font' Dialog Box
S 7T THTH STRFEMS Office) BT 3G HX T8 B dl Ha—H 1, F12 FHAN ¢ ?
+) g U STEi ST Bierd! © o) Fewa e Sroai sie e @
b) ST ST STaH Tl o d) e ST Siaw Bl €

140. Which among the following is the incorrect E-mail address ?
ProfifRa d & 11 9 Taa §-Ada gl e ?

ashook kr@gmail.com &) kamalkr@yahoo.com
@est@soluﬁon.edg yYwww.gurprem.com
(2 141, I35 fafor fed foazr ‘uZer m%mwaaamﬂ'% ;
8 TR dES _p) wwew o d) T
O 142. fegst fed e e wr waisg &' HEfas &d
© _a) wAfoH \] WU ¢) niT d) »eE

143, ‘FEr wae fon A3 o FEfS 9
a) I% THI 5%, b) foATEa &< Lﬁﬁ‘ﬁmﬁg QWWH’%’ _

144, feg s feg e Faast swer i 31 ¥ 68 R fon i e umere 3

Y Teuedt ugste b) fereel UEE O i e d) foneh ume .
Yds. 8 fewry fmradh & e dfier HET-HE T 7= R0 3 few ‘e fiar i QU A UEE AT ©
a) WY fafonr + IStH® ﬁﬂmﬁfhﬁw e Dl : .
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Recruitment Test for the Post of JBT
(Samagra Shiksha, UT, Chandigarh)

Date of Written Test : 10-12-2022

Provisional Answer Key - Set D

Q. Answer Q. Answer | Q. Answer | Q. Answer | Q. Answer
No. No. No. No. No.

1. D 31. D 61. C 91. C 121. D
2. D 32. C 62. D 92. C 122. C
3. B 33. A 63. D 93. A 123. B
4. A 34. A 64. D 94, B 124. A
5. D 35. C 65. A 95. B 125. D
6. D 36. B 66. C 96. B 126. D
7. C 37. B 67. A 97. C 127. B
8. B 38. B 68. B 98. D 128. B
9. A 39. D 69. D 99. C 129. A
10. C 40. B 70. B 100. A 130. D
11. A 41. C 71. D 101. C 131. B
12. D 42. D 72. C 102. C 132. C
13. A 43. D 73. B 103. D 133. B
14. B 44. D 74. A 104. B 134. B
15. B 45. A 75. B 105. B 135. A
16. D 46. C 76. C 106. C 136. C
17. C 47. C 77. C 107. C 137. A
18. A 48. A 78. A 108. A 138. A
19. D 49. B 79. A 1009. B 139. A
20. B 50. D 80. C 110. D 140. D
21. D 51. B 81. B 111. B 141. A
22. B 52. D 82. B 112. A 142. B
23. A 53. D 83. B 113. D 143. C
24. B 54. C 84. B 114. A 144. B
25. C 55. C 85. D 115. B 145. A
26. B 56. C 86. B 116. B 146. C
27. D 57. B 87. A 117. C 147. B
28. A 58. C 88. B 118. C 148. C
29. C 59. C 89. B 119. A 149. B
30. D 60. D 90. C 120. B 150. A
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